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31- The average human .............. in the developed countries has increased over the last
hundred years.
1) attention 2) nature 3) plan 4) lifespan
32- You can only go to the match if you leave at the first .............. of trouble.
1) sign 2) drop 3) fight 4) fact

()

P,




A} A: “The windows are dirty “.

B: “Yes, | know, I ................. them later.”
1) won’t wash 2) am going to wash
3) will wash 4) wash

34- Choose the CORRECT sentence with the best order.

1) Persian Gulf is very important sea between Iran and the Arab countries.

2) The Persian Gulf is a very important sea between Iran and some Arab countries.
3) The Persian Gulf is a very important sea between Iran and the Arab countries.
4) Persian Gulf is very important sea between Iran and some Arab countries.

35- Mr. and Mrs. Rahimi have four sons. Their .............. son is 16 years old.
1) eldest 2) older 3) elder 4) the oldest
36- Amir never lets his little brother drive his .................... car.

1) expensive modern sports Italian
2) sports expensive modern Italian
3) expensive modern Italian sports
4) modern expensive Italian sports

We can look at nature in the same way that we look at a complicated machine, to
see how all parts fit together. Every living thing has its place in nature, and ecology is
the study of how things live in relation to their environment. It is a relatively new
science and is of great importance today. It helps us understand how plants and
animals depend on each other and their environment in order to survive. Ecology also
helps us work toward saving animals and plants from extinction and solving the
problems caused by pollution. Plants and animals can be divided into different groups,
depending on their ecological function. Plants capture the Sun’s light energy and use
it to produce new growth, so they are called producers; animals consume plants and
other animals, so they are called consumers. All the plants and animals that live in one
area and feed off each other make up a community. The relationship between the
plants and animals in a community is called a food web; energy passes through the
community by these food webs.

37- Which of the following is the best title for the passage?

1) Living Animals in Nature
2) Saving Animals and Plants
3) Ecology: A new science

4) producers and consumers

38- Which of the following is NOT true about ecology?

1) It studies the relationship between plants, animals and the environment.
2) It divides plants and animals into different groups.

3) It is a rather new field of study.

4) It is a very important science.




39- What does the word “they” in line 11 refer to?

1) Animals 2) Plants
3) Producers 4) Both animals and plants

40- The word “survive” in line 6 is closest in meaning to.................. .

1) defend 2) save
3) die out 4) live longer
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